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(For Students of Class VIII)

Time :90 Minutes Max. Marks : 90

INSTRUCTIONS TO CANDIDATES

Read the follow mg nstructions carefully before you open
the Question Booklet.

1. Answers are to be given on the same OMR Answer
Sheet.

o) 5 : : ;

2. There are 90 questions in this booklet. All are
compulsory.

3. Choose the correct answer from the options given for
each question and darken the corresponding circle
with black ball point pen in the OMR Answer Sheet.
Do not mark ¥ or ‘X’ in the OMR sheet.

4. Since the time allotted for this Question Paper is very
limited you should make the best use of it by not
spending too much time on any one question.

5. If you do not know the answer to any question, do not
waste time on it and pass on to the next one. If time
permits, you can come back to the questions, which you
have left in the first instance and attempt them.

6. Rough work can be done anywhere in the Question
Booklet but not in the OMR Sheet/ loose paper.

7 Each correct answer will be awarded one mark.

8. Please return the OMR Answer Sheet only to the
invigilator after the test. Candidates can retain the

Question Booklet.

9. Quote the seven digit Roll Number without fail for
any future correspondence

PLEASE TURN OVER THE PAGE AND START
ANSWLERING.
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7. @aQeaur@ aflurear efLs@n @@ wHIGumT
LG LD,

8. Carey Wyis WnE OMR el gsramear wl Hin
S e aramiliureni_n Qar@ssann. aflammsrdh
Qam@lmu Caisut TR &g1d Classusm.

9 ﬂ(iﬂg)@u_b Bl &g Q@nLiy Qarstar Gausmmglu (g pilsma
MU 6T 67 [Aeud e w6 @ ou smoT smETIT 5 AT 6D
@M.

u&&GmaEH Smuilh uhaaflsad Clm_migan).



ANS: 1

ANS: 3

ANS: 4
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MENTAL ABILITY TEST/wengdlmesr Cairey

Direction (Q. No. 1 to 5) :

The diagram shows some relationship among, the
three items given. From the given diagrams A, B,
C, D and E choose the correct diagram that

corresponds to each question.

~Nele
© QD
© 5
0% B C D E
5 [ Gold, Metal, Zinc

41 A (2) B
3 C # D

2. Examinations, Questions, Practice
(1) B (;/7 (@

3) D (4) E

3. Rational numbers, Fractions, Integers

& A @ E
(3) & 4) D
4, Sand, Water, Air
W B (2)
1}{)(3)"’ C 4) E

5. Classroom, Blackboard, School

1 A @ C
3) D 4B

auflapemm (6967611 1 (o560 5 euem) :
CaETMH&sH UL (Heten Li_migmer gpoulblalmarnmn
penm 2 mUUsEhEsE G G
Qarreusds asri(Hdletpear  ¢péulleimm
elanmallp@b Gam_ryemiws sflurer LS
@Qar®sslul_(erer A, B, C, D wmmib E
vLmsefladlmbg Gaxihelg )56 Wn

A B

o_GITer

e

LD e ongenst
oo (AD
O N
& D E
1. smasbh, 2 Garsn, FEEHTHD
1) A (2) B

B) C 4 D

2. Gsreyser, eflemsger, LudmnHser

1 B 2 ¢
() D (4) E
3. dflswpm  eranser, 9 e sar,
(WP(p&sa6T
) A (2) E
3) C 4) D

4. wewed, Hif, srHM)

(1) B (2) D
3) C 4) E
5. el@lUuep, shbumas, Laraf
1) A (2) C
3) D 1) B
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Direction (Q. No. 6 to 10) :
Find the odd one out.

6. Y 7:22 2) 8:33
ANS:2 (3) 12:37 ) 15 46

7. (1) 113 "2 123
ANS:2 (&)Y 157 (4) 139

8. (1) Moon (2) Earth
ANS: 4 (3) Football (4)" Bangle

9. (1) (4 16, 60) ) (5, 25, 120)

ANS: 3 (3) (6, 36, 216) @ (7, 49, 336)

10. QJ 75% (2) 0.75
) = 3
ANS: 4 3) ] \-@) 75

Direction (Q. No. 11 to 15) :
There is some relationship between two given
words/letter/number before “ : : ” symbol. Find

the other one from the given alternatives having
the similar relationship.

ANS:2 O 24 i
3) 16 4) 23

M 13 R

2. et i

- 18 19
M) 2 -
ANS: 1 ) )
9 8
@ = @ 24

auflpenp (efl.crewnr 6 (LpGe 10 auewy) :
QurmBETES GerTenns SaTLHlab.

6. (1) 7:22 (2) 8:33
@ 1287 (4) 15:46
7. (1) 113 (2) 123
(3) 157 4) 139
8. (1) Hler @) b
(B3) asTOUHS (4) euemaTwa
9. (1) (4 16, 60) @) (5, 25, 120)

(3) (6, 36, 216) @) (7, 49, 336)

10. (1) 75% @ 0.75
3
® 3 4 7.5

eublpenm (efl.eevvr 11 (5560 15) :

“i” erap @MW IghE e o dter @ e ()
@Jnfr‘ej,emg,/er@ggj/cr@‘um;@éseﬁeml_@u
FGaa@bd @m Csriy odeargy =Cs
Qgriimder ©gliuemL e Qar@ésing
Csfaysalad®mbg wLHODTETE DS Cayirn—
Qg H&saLD.

11. 43:14::54:

(1) 24 2) 18
3) 16 @ 23
M 13 R
12. B 2 D —
18 1
m 5 @ -
9 -1
® 5 @) 5



13.  South : North West :: West :
(1)  North +(2) North East
(3)  South West 4y FEast
ANS: 2
14. Sugarcane : Stem :: Clove : o
L~ Flower ~A2) Bud
(3) Root (4)  Fruit
ANS: 2
15. India : Banyan tree : : Tamil Nadu :
1) Palm tree VA‘ Coconul tree
(3) Neem tree (4) Mango tree
ANS: 1

Direction (Q. No. 16 to 22) :

Find the missing term.

16. B12C, E15E HI8G, , N 24 K
(1) M22] K2l
3) K19]J 4) L211
ANS: 2
17.
(1) B (2) D
3) G @&r K
/\
| 6
8. 10/5N\3 8/ \* Y%
\ A\
5 6 74
(1) 25 & 3
(3) 27 4y 21

ANS: 4

13. (};];rr)[b@ aul_GLom s,

(1) e a&@
3) CseanGuona,
14. &L« San(h
1 Y
3) Geur
i;
(1) Uener WFLD
(3) Geul LD
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(Gom @,

Gl -n‘ﬂ![_;lf(ﬁ}

(2)
(4)

Klip i,

@)c.um_Jrélmi) P

(2) Clorl®
“4) s

@ﬁ)@uﬁ? TRV T g,L&gprrbn@ -

(2) GCgenanan IW
(4) LW

eufl(pemm (6N.616v01 16 (LpG6v 22) :

AUl 2 mleruds samBH Gy

16. B12C, E15E, H18G, ,N 24 K
(1) M22] 2) K211
3) K19] (4) L211
17.
(1) B (2)
3) G 4) K

18. ‘,)',« ? O
L
() 25 (2) 33
(3) 27 () 21
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33

If the code for " TEACHER' is ' AETEREH’ then
what will be the code for ‘PROBLEM’ ?

ANS: 3 N | ORPCMEL (2) RPODMEL
. (3 ORPDMEL (4)  RPBUELM
20. In the given letter series, find the missing
letters.
bca _b_aabc _a caa
ANS:1 (1) acab (2] bcbb
(3) «cbab (4) ccab
21. 11,17,15,13,19, _ , 23, 5.
ANS: 4 (\M 7 el L
(3) 8 79
? 2
248 5
22. |17 12
58 | 27
492 512
ANS: 4 ) @6 e
(3) 496 4 503

Direction (Q. No. 23 to 28) :

Find the next term in the following series.

a.

ANS: 1

s

565, 112, 27, 8, 3, .

(1 2 @ 1
3
3 0 4) 3

6

"TEACHER’ eranmm Gl&me "AETEREH’ g

19,
GOHUAL LT PROBLEM’ aTéi Glang
réuaumm @mudlou@o 2
(1) ORPCMEL (2) RPODMEL
(3) ORPDMEL (4) RPBUELM
20. Qar@&sriul(erar e (WpHE CHHr
aflemelled eNHULL 6T HSGHGHme
TS .
bca b _aabc _a _caa
(1) acab (2) bcbb
(3) cbab (4) ccab
21‘ 11! 17! 151 ]3/ 19/ s 23, 5
(1 17 2) 11
(3) 38 4) 9
? 2
248 5
22 121 12
58 | 27
(1) 492 (2) 512
(3) 496 (4) 503

auflpenm (6616501 23 (PGHED 28) :
Weareumd Cgrreuflamsuile o®bs am
2 miiend e (H g

23. 565, 112,27, 8,3, __.
1 2 (2) 1
(3) 0 @) =



wifr

fzakal

HLD

24.

ANS: 4

25.

ANS: 1

26.
ANS: 3

27.
ANS: 1

28.

ANS: 3

289,

ANS: 4

30.

ANS: 3

31,

ANS: 4

» 5 11 17
7" 13" 19"

21 23

M 3 o =

23 23

3 5 4y %

6, 0.6, 0.12, 0.036, 0.0144,
(1~ 0.00720 (2) 0.0720
3) 0.720 (4)/ 0.000720

AETLMQ, .

(1 S (2 T
B U & v

BC10, FG26, | K42, N O 58,
Ay RS74 (2) ST78

(3) TUB86 4) XY88

7 12 2 42

11" 21" 41" 81’

9 62
Y & 1o

SR . 1
TS @ T

If CAN=21 and DEAR =32 then STUDY=7?

(1) 43 @ 74

(3) 89 \»(‘4,). 70y

If SUN = TRVTOM and GST = HFTRUS, then

TEN =7
(1Y SUFDMO (2) USFDOM
\(3)” UFSDOM 4) SUDFMO

If “sweet and sour” = 413, “eat sweet apples”

= 748 and “apples are sour” =753, then

eat = ?
(1 4 (2) 6
3) 7 WA 8

24.

25.

26.

27.

28.

29.

30.

31.

[CODE[vVIII] 1] 25 |

2 5 11 17
377 13" 19

21 23
1 53 2 35

23 23
G 7 @) 59
6, 0.6, 0.12, 0.036, 0.0144,
(1) 0.00720 (2) 0.0720
(3) 0.720 (4)  0.000720
AELMQ, __.
(1) S 2 T
(3) U 4) VvV
BC10, FG26, JK42, NO58, _ .
(1) RS74 (2) ST78
(3) TUS86 (4) XY 88
7 12 2 4
117 21" 41" 81

92 62
O Y] (2) 101
o) = @ ==

161 161

CAN =21, DEAR =32 erafléh STUDY =?
(1) 43 2) 74
(3) 89 4) 94

SUN=TRVTOM LDﬁ)g)ij GST=HFTRUS,
erafled TEN="?

(1) SUFDMO (2)
(3) UFSDOM (4)

USFDOM
SUDFMO

sour” =413, “eat sweet
apples” =748 bpmitb “apples are sour” =753
erefley eat = ?

(1) 4 (2)

3 7 (4)

“sweet and
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Direction (Q. No. 32 and 33) :

Study the information and answer the questions.

suflapsnn (6.66t01 32 opmtd 33) :

Qemaumd GOILLSMETS Qaream(h edlen

UG

Letters | TIN|P|C|G|A|E|HIK]|1I Letters N|P|C|G F E|H|K|I )
Codes |A[#|*|e|1]|@|2|O|%]" Codes |[A|# | |° +_’ @|?2]@] k| [
32.  What will be the code for “HIKE” ? 32. “HIKE" erénuispsran GOSE ——
1) %@ 3 ©"%? %@ (2) ©"%?
ANS:Z() \(%) O 2 | o
3) ?%"© 4) @?2%" 3) ?%"© (4) @%
33. The word that corresponds to the code |33, “A?@e®©" TETLIENSS GEGLD UTTHMNG
“A?@e©” is
ANs:1 “0f TEACH (2) EATCH (1) TEACH (2) EATCH
(3) HAECT (4) TECHA (3) HAECT (4) TECHA
34. Arrange the given words in a meaningful | 34. Gar(Hésluul(Herer Qlemmesener
sequence and choose the correct option : 2TES5H e 2jgliuaula euflaaL-
WIOT:T::3
(A) Shoulder (B) Stomach (C) Face (A) Shoulder (B) Stomach (C) Face
(D) Neck (E) Foot (D) Neck (E) Foot
ANS:2 (1y EDCBA (2) CDABE (1) EDCBA (2) CDABE
(3) DCEBA (4) ABCDE (3) DCEBA (4) ABCDE
35. Arrange the words as per Dictionary. 35. yudle srrd wapuile eufleans-
LHS&S.
(A) Rain (B) Relief (A) Rain (B) Relief
(C) Rescue (D) Release (C) Rescue (D) Release
ANS: 4 (E) Rank (E) Rank
(¥ AEBDC (2) AEDCB (1) AEBDC (2) AEDCB
(3) EADBC v(4)"" AEDBC (3) EADBC (4) AEDBC




pirection (Q. No. 36 and 37)
gtudy the given arrangement and answer the
following questions.

A43@9Z%37 + PR821Q+YB

Which of the following is 5t 1o the right of

36.
11! character from the right end ?
ANS: 3
(1) @ 9
B 2 (4) 8
37. If all the numbers are removed from the given
series, then which of the following lies in the
middle of the series ?
1 %
ANS: 4 @) ) ) ’
G = 4 P
38. Select the correct set of symbols that satisfy
the equation28__6__25__5__4=2.
1 +, X, Sy 2 xl—l +I+
ANS: 3 1) > i
\,w/ —lxl_:_l+ (4) +,X,—,’:—

If arb=axb and a#b=a~+b, then the value

39.
of (24+7)#(484#8) is :
Qy 20 2) 38
ANS:4 5 96 4y 28

If'+" and ‘<" are interchanged and 3 and 6

40.
rchanged, then which of the

are also inte
following equations is true 7
Y2y 3+6+2=4

(3) 6+6+3=10 (4) 2+3+6=5
41. If AxB=AP and A+B= BA then, the value

of 2x4)+(0+5)is

4) 5

9

[CODE [vII[ 1|25 |

anflapsnm (sfl.e6ue 36 HOHID 37) :
Qar@asiin_Heren auflens oenoLienL LA b1
Qereumid ellanndmens@, eflent el

A43@97 %37 + PR821Q+YB

o/
/n

Il
5 Dpeusl

36. (p &m &l 60l (m b ) ), 61 &)

6 e gl
@S 1.0 @

@L_{bgﬁd) @muug .

UG G LM LD

(1) @ (2) 9
@) 2 @) 8

37. Qar@ésuulL  eflasuile o_eerm
DIDHTGHG)| 6T TG (6 LD pasuulL Ger,
Bpperaraupmer pHelld  HlHUUS
m 7z 2) %
@ - 4 P

38. 28 6 25 5  4=2 eremip
soaurl_geear  Heope Geluo
GBS CsTEuy -
(1) +; %p5s= (B R~ %
(3) —IXI+I+ (4) +,X,—,%

39. atb=axb wHmb atb=a+b caila
(24+7)#(4848) =?
1) 20 2) 38
3) 26 @) 28

40. ‘+' wpmbd ‘+ @ wrndng) Cugib
3 wpmith 6 @b wrndng srafla shlwirar
gwerumr(y
1) 6+3+2=1 (3 3+6+2=4
3) 6+6+3=10 (4) 243+0=5

41, AxB=AY wpmpb A+B= BN grafley,
(2x4)+(0+5)="?
(H 0 (2) 1o
(3) 1 (4) 5



ANS: 2 (1) B
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Direction (Q. No. 42 to 46)

The following diagram gives the information about
the students who take partin the three competitions
held in a school. Study the diagram and answer
the questions.

H Dance

Students who took part in all the three
competitions is

2y g E
@ F

3) D

43.  Students who took part in drama neither in
drawing nor in dance is

ANS: 1

1y A 2 C
3) G @ H

44. Students who took part only in two
competitions are denoted by

(1) BandF
2/ BandD
ANS:4 (3) B EDandF

(% B DandF

10

sulflemm (ed.eTetor 42 (1pS60 46) :

@ uaraiude) mepL QUMD epem) aﬂgmm
Gurigseaie wm@ Cum Lorrmreurr&:,aﬂf
aleurhser Garaumn LULGHD CETHES
UL (heTerg).

—— ‘..‘_”':;@
,\) <

H DLGNLD

42. aparm ellgwren Curligsaflapid Lk
Cumbd LraETaTEmeTs GHEGD LiE,

(I)y B (2) E
(3) D 4) F
43. prLssdled LI H LB @Gelum

bLarsCanr odag RallwsHGea
U@ Cumrs wrameursmers GIEIET

U .
1 A 2) C
B) G @) H

4. gGsad Qe Curlysaflad we L
&0 bHFI& @a;rre'rr@m LD IT &80T 6U T & &9 @I«
GHEGEL LG

(1) B womb F

(2) B uwopmb D

3) B, E D wpmid F
(4) B, D wpmibd F



45. Students who took part in dance and

drawing but not in drama is -
ANS: 2

1y C “2) D
® G 4) E

46. Which refers to the students who did not take
part in any of the three competitions ?
1y A 2) C
@ G 4/ H

ANS: 4 et
47. Pointing to a man, Monika says, “His only

48.

49,

sister is the mother of my son’s mother”. How
is the man related to Monika ?

\,@f " Maternal uncle

(2) Grandfather
(3) Father ANS: 1
(4) Nephew
A and B are brothers. C and D are sisters.
Sister of C is B’s daughter. How is D related
toB?
ANS: 1
_(1) (I%Daughter (2) Sister
(3Y Mother (4) Mother-in-law
If LION is coded as OLRQ, then the code for

RISE is :

(2) SJTF
(4)" ULVH

() QHRD

(3) TKUG

ANS: 4
11

45.

46.

47.

48.

49.

{CODEJvI| 1] 25|

BLad oL gealwsla Lik@tubmn

DpETTe BrLssdle um@ Guprs

LOTEsTeUT&EMaTs: GOle@n Lugd
1) C 2) D
3) G (4) E

aparm  Gurigseflgynd umGspers
raelisamend @hla@n g
1) A 2) C

3) G @) H

Curafllsm eramueul gm <, eenml UTTEs)
“@aeumenLil G #Carsifl eramg) wsaf e
S|DWTENET WM 6remm Sama mmT
erafled, e Gurailsrelime erenar
o mey ?

(1) &Ml wror

(2) sresT

(3) =uum

4) &Gargren/sCansfluden waer

A vpmw B sCargriser, C wpmw D
sGarsfger, C -ar sCarsf B a1 wser
i erafleh, D eranmueui B -&(5 sranar
2.Mme] ?

(1) wser 2) &Cargil
(3) b 4) wrdlwrr
LION  eeip Gsré® OLRQ erané

Gl Lul Cr@, RISE erenp @eme
ereueunm @muiliumimn ?

(1) QHRD (2) SITF

3) TKUG (4) ULVH



ANS: 2
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50.  Choose the correct option when a sheet of

paper s tolded to form a cube.

T
AT
B
<D
F / . I
S Y @ (ED
L / D
(3) B L/ (4) - A

Direction (Q. No. 51 to 55)

A Number arranging machine when given an input
arranges the numbers step by step in the following
way. ldentifv the rule followed in each steprand

answer the questions given below.

Input 60 30 45 12 55
Step 1 12 60 30 45 55
Step 1I 12 30 60 45 55
Step I 12 30 45 60 55
Step TV 12 30 45 55 60

The step IV is the last step of the rearrangement.

51. Input: 100 12 65 02 90
What 1s step 1 ?
J-’J’)':-'uz 12100 65 90
o/ 02 12 65 90 100
(3) 02 12 65 100 90
4y 02 100 12 65 90

50, Qﬁwﬂ(_h\,i\ﬂ‘;'_”,;t (},\ G &7 fL [T &) &I L I J;,_nj,,}

GQurgy He H@n SHETaFMITLD GTg)

|r
(Al
Bl
c[p]
r n
I (2) Y.
(1) B Y g I /
B D/
B B[S @ el

eulflpemm (el.6T650T 51 (HEY 55)

aansmer afllewsuBsgn @f Guidru
Qar@ssu@n 2 el (Hesamen
ugflevasailer cuflensuBsmdlmes. conllaunn
vgbhleasailan o der  aldopansame
s HIbg)| Weseu(mid 6Slemas @héE ellenwier

149 &1 e (LD

2_eart(h) 60 30 45 12 35
Lig Hlene 12 60 30 45 55
Lig hlemen 11 12 30 60 45 35
L bleney 111 12 30 45 60 35
Uighleney 1V 1230 45 55 o0
LgBlene IV - ang Qmid Ly flava (&Lh

51,

aaraf®: 100 12 65 02 90 ol
Uh*.‘(j;lm)u) =7

() 02 12 100 &5 90

(2) 02 12 o5 90 1o

(3) 02 12 65 100 W

() 02 100 12 o5 w



52. Input i 20 10 50 70 9()
Which step will be the last step ?
(1) Step 1 (2)  Step 111
ANSHS (\7 Step IV Y Step
53. Input: 500 400 300 200 100, then which
of the following steps will be
“100 200 300 500 400" ?
1) Stepl (2)  Step II
ans:z 0 ( °P
3 Step Il (4)  Step IV
54. Input: 9 5 7 4 3
What will be step IV ?
) 1 3 4 5 9 7
LD ‘ )
(M (3) 3 4 9 5 7
o 4 3 9 5 7 4
. ANS: 2
: 55. For which of the following inputs, step Il will
: be the last step ?
4y 15 10 20 13 25
ANS: 1 @ 30 27 24 21 18
(3) 45 30 28 65 18
2 4 76 56 65 70 60
D.
56. A man walks 10 m towards East and then
flev turns left. After walking 7 m, he turns right
and walks for 8 m and reaches his destination.
In which direction is he facing now ?
ANS: 3
7 North (2)  South
(3)"" East (4)  West

13

52,

53,

54.

B

56,

[CODE [VIII[ I ] 25 |

oaraf®: 20 10 50 70 90 erafled
emeumauanaunmeT eray Gmid Ligblane ?

1) ugbleoe Il (2) wgblena I
3) ugblene IV (4) Liig fblenay |

o emaf(p : 500 400 300 200 100 ererfled
“100 200 300 500 400"

Granug) erihg Uigfblenay ?

(1) UL}@G@@UI (2) l_ur_}_‘(_gleﬂa) I
(3) UL&}@@)@) [I1 (4) \_mkjﬂemﬁu IV

saaf®: 9 5 7 4 3eraid

BTGGTeUSE) Ligblenay crever 7

M 3 4 5 9 7
@2 3 4 5 7 9
@ 3 4 9 5 7
@ 3 9 5 7 4

Qemeu(mid 6T 2 eTafl e @ &reamm eus)
Ligifleney @mi LigHlepauiime e ?

(1) 15 10 20 13 25
2) 30 27 24 21 18
(3) 45 30 28 65 18
4 76 56 65 70 60

el Hps@ Crred 10 5 s1rh HLbhs)
Qe seng @LELUDWLIS 7 5 &b
pLEADTT. 196 Heng cueLimid HlmHibdl
8 5 gipw Gesearm san Qosos
gmLdlpri aald, et sHEUTE
crifleang Crradl HoSHmmir ?

(1) auég ) QaneE
) Slpse ) CGuno



= X ~ .
57, Ram drives his car [or 80 km towards North.
From there , he drove 30 km tow

ards East and
then 40 km towards

South. How far is he now

from the starting poing ?

ANS: 1
(1)
(3)

50 km (2) 60 km

4 150 km

70 km

58.  Number of triangles in the given figure :

ANS: 4 (1)

By 13

15

)
\’(,4)"/. more than 15

14

59. In a leap year, what will be the date before

19 days of 6th March ?

ANS:1 (5 16 February 2V 18" February

(3) 17" February (4) 15th February
60. The angle between the minute hand and hour
‘ hand of a clock when the time is 12:30 :
ANS: 1
W 165 2)  170°
3) 175° (4)  180°
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Direction (Q. No. 61 to 65) :

Study the given graph and answer the following

quesh’ons.
Y
A
- 51 Private
E -l A Schools
= - 5 T oy ] ¥ Governmen
‘% E-\. :-.'.: 'v'_—f;' NN L:' Schnulthm l
% 20,000 -+ v, oo Government
- o — Aided
"g 10,000 4 e — Schools
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Z REN -
XSO 2001 2002 2003 2004 2005
v
N Years
61. Total number of students in the year 2002 is :
g/)f 10,000 (2) 20,000
(3)~ 30,000 (4) 15,000
- ANS:3
62. Number of students in Govt. schools in the
vear 2005 is :
(1 15,000 (2) 25,000
g}')' 5,000 (4) 10,000
ANS: 1
63. Total number of students in Govt. and Private
schools in the year 2001 is :
ANS: 2
(1) 10,000 (¥~ 20,000
(3) 15,000 (4) 30,000
64. Maximum number of students in Govt.

schools is in the year

1) 2003

(2) 2004
B3y 2005 (4) 2001
ANS: 1
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65. The difference between the number of

students in Govt. Aided schools and Private

schools in the year 2004 is e

ANS: 4

(1)
(3)

1,000
10,000

@ 15,000
_(4y 5,000

Direction (Q. No. 66 to 70) :

Read the information and answer the following
questions.

Kumar has 5 marbles named A, B, C,Dand E of
different weights. A weighs half as much as B. B
weighs one and half as much as C. C weighs twice
as much as D where D weighs three fourth as much

as E.
66. Which marble is at the middle most in
weight ?
(1) D 2 C
ANS: 4 »
(3) B A
67. Which marble is the lightest ?
o0 B of c
e
ANs:3 (7D 5 &
68. The heaviest marble among those 5 is
P —— /‘/
ANS: 2 M A ‘JZ) 8
@) C (4) D
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69. The marble which is lighter than E in weight
I
(nH B “(2) D
(3) A @ C
ANS: 2
=0. Which marble is heavier than A but lighter

than B ?
(1) A
3) B
ANS: 4

@ D

&

Direction (Q. No. 71 to 75) :

Complete the sequence.

iR
(1) ) &®
ANS: 3
> < < <
72. > 2 >2 o I <= ?
= | 7 > | <7
< < > >
> < < <
< < > >
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(1) 3%} (3) (1)
ANS: 2
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74.
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Direction (Q. No. 76 to 80)

Choose the figure which is different from others.
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o @ 0 @f
ANS: 2
80. 4 \.\ o '\\k %/ N
N N AL ¢
W 2) (3) (4) -
ANS: 4 A

Directions (Q. No. 81 to 85) :

There is some relationship between two given figures
before “ : : ” symbol. Find the other one from the

given alternatives having the similar relationship.

81. Ao;@::'D: ?
om0 @
ANS: 2
82. 2 q I () ?
vl L
g @  w W
ANS: 3
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87. Water Image of

-

)

Directions (Q. No. 88 and 89) :

Choose the correct figure from the given options :

(4)

88.
?
(1) (2) Gy~
ANS: 3 x};}
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90.  Numbe 90. Qarmésu_(pHere ULSQ@J%

T of squares in the given figure is ' . .
gayrisaflen eranmenflsans

) 8 @22 (1) 8 (2) 22
il (4) 34 (3) 32 (4) 34
ANS: 3
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